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CIE02, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,407
pbnu=pbn−pbu=pbn−(−0,822)
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CIE10, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,415
pbnu=pbn−pbu=pbn−(−0,811)
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CIE10, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,415
pbnu=pbn−pbu=pbn−(−0,811)
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CIEF02, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,410
pbnu=pbn−pbu=pbn−(−0,821)
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CIEF02, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,410
pbnu=pbn−pbu=pbn−(−0,821)
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CIEF10, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,417
pbnu=pbn−pbu=pbn−(−0,810)
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CIEF10, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,417
pbnu=pbn−pbu=pbn−(−0,810)
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R17M, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,350
pbnu=pbn−pbu=pbn−(−0,808)
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R17M, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,350
pbnu=pbn−pbu=pbn−(−0,808)
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R17Ms, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,343
pbnu=pbn−pbu=pbn−(−0,809)
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R17Ms, RG-, YB- und radiale Richtungen: a, b, rna=2,5000, nb=−1,000, D50
panu=pan−pau=pan−2,343
pbnu=pbn−pbu=pbn−(−0,809)
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